
.. 

i~i.I.;k~ 104 ~+& a M{;~.-t-~ !:fAg 1..~t~t~~ 

~ )}IJ : l.!..I..m-=-1r-f.:& :'ft § : qpJ. ;fit 4t 
~~~ a ~Jl : 7 }j 25 a(JjtJl ~) ~ 3 ~p -*-~A:~# 10 *-~, 1 J{ 

~-$1)} ~~I! (60%) (~~~ili~t~~fi, ~f!t§::#~~~~ft~:f$ill[ttfY3Jm5dl) 


1.(5,5%) *1!Ui~R 


2 
a).lim x -- 7:£ + 12 sin(l -- ~o~x~4 -----~:.,= 

b).limt--+o-- 1 - cos tx-4 
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dx sinx dx 

X3.(10%) ~tJttbz = x cos y - ye {E~~ (0,0,0) J:tfJt}]ZlIOO1jfj~. 


4.(10%) SErx, y, z1mJEx4 + y2 + z3 +- 7,y,yz = 5, ~Ntttb Z~ E<. ~~ illWiflm~~:B-®f!z. 


5.(5,5%) *T9UfJ7t~~ 


4X,2 3.1; -+ 2i). JIn xdx i i), J 8;--'3 dx4x 

6.(10%) #~ y = x 
2 + 2 ~W y x 4 B~[IJ~tt-J~;l§~, tJx~ruME~'PJT*~~l¥1~Fa'S"Jflfi~1nJ? 

m=tf~{J1 (40%) ~~&~f¥J~. ~f~fifHm~MI~ tHt~~~l~, ~~!J:f7tl+7}. 

7.(10%) rr. 
(4 j'2 1 

Jo . y':i y3---'1 dydxr

8.(10%) ~ttili®1f{ f(x, y) = X4 + y4 - 4:ry + 1 1¥J~b.J:g~~j*1ut&,lI~~JN/J\1([[t)J?d¥:~~~ 

(saddle point) 


9.(10%)w.rrll'®~f(x,y)=2x2 y2 -i-2xy 4x 2V 7tE4x2 4xy ll¥J~~ffiIjT, 

:;I:f:i§:fI~j*1([[~:;I:f:~/J\1~? 551'}~~ ffl Largrange muitiplier jj i*fl~;fnJi1®S9 ~~~btxLti *. 

10.(10%) B1:D P > 0, frJtxH1P 1¥J$HIIlML~tyjllt!liB~IJgtfJ P 1~~~*&1j Z=~=l ;p ~)t~. 


